20194E10 A DB S Bt OF&E BT —&

R —%

FEA AR, PRARE, FEOMNARE., KEWEE, 3K - Pees. SOSUeMiies, SZaEE L RS E R, SRR ITER ST D WREE, FRTTIERE 2 —,
A L JFAZTAREERRS . KT 7 T 4 BT 43— 27 « HSOA— b F v 7 KRB LD R, KAk an P —% v U785 FRiaEEE AR AL
ftiaz . AT HRI)BEDR, 13 IR IR AL i

22 R 13RS

KA ékl@ﬁo 220 é? I %Al@mo 210 ”ﬂ**éé
A - 10 A 1 H LARE fEA - oy st
/A JAEE 1007} Gl A LA 1009 L0 1A VAR
NG . IR - NG — IR o
A (30 ALL = A (30 ALL =
) A gl(}\llEH:O 601 ) A g1(]\1@&:0 6011
PN | Hh oL/ ]
KA A B 1[ENz o X 1, 050 KA H B 1[EZo>X 1,030
B ekt B EL ErEE B EL
- F B 1Az & 310 8 H ) 1[ECoX 310M
f= DR AR fR= DR AR
77 R |HAER ¥H1a—Rox 4,190 77 R SRR FH1 a3 —RIZOX 4,110
=L 7 B =V 7’
T—A — i FH 1 AlIZo&E 210/ T A —JBe e A FH 1 AITHX 200
fif i AR
JI R )7 A JI R a7 HA
(7 57 R O — FH1tY Mo 10014 (7 5 7 F O — FH1EY Mo 100/
% ) %, )
HEWEE HKEYEE
A& (20 R (20 A
4 VNI i el BA ] o
— % 520 410 — i 5109 410/
11 Flico R R KEAE - @RE 310 250 1A1EKC>ﬁ%%; KEPAE - @RE 310 240
< S . N 100[1) 8011 < oA N 10011 80/
BLE R — — BEER — —
R 1, 050 OHIPH CHENE D D4R ANCIEGN 1, 030 D#HIPH CHi R E D H%H
— 1,570 — % 1,540
IRAR— b KA - @aAE 940H IRAR— M KA - e 920
theg /e o N 3104 theg/ o N 310H




{5 R

(1) Hex OfEH

{5 FH B R & S| Ttk &[] R4
9 :00~12 : PR 17 : 00~ _
X4y 00 12 : 00~17 : 00 99 - 00 (1BfRIIZ D E)
SRR R 1, 760 2,860 2,860 4404
KRB E =R 1,320 2,200H]| 2,200 3304
(2)  PMtiEds oA
72777 s 11008 @ilEe (1IMIcox) 220/
Tapenaonge 11X, 1,100 imEke (1 REic-> &) 220
<A 7 14 550 wEiEke (1Rl o %)
i 55 5 A 1Bz & 4400
] 1 iz >& 220
(3) tEMfEE R ofE
Ml 1A 1EZS& 220
F5. £/ /nap— 1A 1Rz X 30
BT —a bt — 1R1IKITHE 220
AX xS — 1A 1EZS>& 2,200
AR 1A 1EIZS>& 2,200
il FIORNT —H 181 ECH&E 2,200
LU g 1A 1EICSE 220, 000
FERY E) 7 u—2A 181 ECH&E 1,100/
T — 181 ECHE 2,200
324 1H 18- 3,300
F L EiRY 1H1&8lco& 3, 3009
SHL 7 4 IV A 1A 1 Ao & 5, 500
fEEart 1A 1ENZ & 44, 0009
e Eg et 1A 1EZSX 22,000
HFERATHEBOX 1A 1EIZS>& 1,100
P feEEgrt 181> & 16, 500
R EE et 181 [ECH&E 11, 0009
(4) BFEFoOfEH
KA A B 1[EizHo= 1,050
8 H B 1 [Eizo& 310

{5

(1) HasxOfEH

5 FH BRF ] Rl T4 I B4
X5y 9 :00~12: 00|12 : 00~17 : 00 o (1#fic > %)
SR SR 1, 720 2,800M]| 2,800 4304
KBRS = 1,290 2,160M]| 2,160 3201
(2)  PMtERE oA
Z27=7 |1t 1,080 il (1ERIC>%) 210
o |1 1,080/ rEeha (1RS> &)  210H]
~A #MH |14 540 ik (1RHIC>&)  100H
% o e i 1z > 430
5 B i 1 iz >& 210
(3) tHMEEEEOfE
] 1A 1ElC>& 210
I REA £/ /nap— 1A 1Rz X 30
BT —a b — 1R1IKITHE 210
AF vy — 1A 1EICSE 2,160H
7AW 1A 1ENZSX 2,160
3 FOLNT —H 18 1o 2,160
LU g 1A 1EICSE 216, 000
FERY )7 a—Ah 1A 1ENZ D& 1, 080
H T — 1A 1EICHE 2,160H
7354 1H1AIZoX 3,240
T L R 1H1AICHE 3, 2409
BHL 7 4L 1A 1EICHE 5, 400
e E &k 181 EZHE 43, 2009
TR EE et 1A 1ENZSX 21, 600
HFERAUTHEBOX 1A 1ENZS& 1,080
ok fREEr 1A 1ElC>& 16, 200
R EE et 181 ECH&E 10, 8009
(4) BrsEGOfEHA
KA A Eh 1[EizHo= 1,030
SRSk 1[FiZo& 3104




#* - FfEE #* - AfFEE

4y A ﬁﬁﬁ? 4y A Hﬁﬁ?k
%{m%ﬁ; 275 %Allﬁu_o A 2001 160 %{Hﬁ%ﬁgﬁ2ﬁ 1 A1l & A 200 160
A« N 100M4 80H ke o VN 100 80H
(1) fEskofE A (1) fEskofEH
= 128 1 B> %2604 HILH = 128 1 B> %2509
;{E MIE T 1 B2 % 300 éa HE e 1 BRI > %300
% B IFEE = 1 BEREIZ > % 300 % HMIEE = 1 FFRETIZ-> % 300
(2) Pt o fE A (2)  MtIE RS oM A
155 A g 5 2% 1 Bffiz > & 440 15 i 55 s M 1 EEf Iz > %430
m A A 1 EFfElc> & 2204 R i 1 Bz > %210
RIS Ot g =D CINLi) o 7
s HHITED D% B HHAITE D D%
(3) BEHEGOMH (3) BEHFOMH
KA A H) 1[ENC X 1, 050 KA H B 1Az 1, 030
1 H B 1[ENC o 310H S SGIEE VN 1o X 310/
i SUAL A e g i SUAL B e ek
X5 A X5 &KA
1 AN1[EIZDE 1009 1 AN1[FENZOE 1001
B R — B -~
1 HZ 310 1 HZ 310
IRAR— N 1, 050 INAR— & 1,030
fi FHR 1HIZDX 1,100 155 1HIZDE 1, 0804
KT SLA R R R E R KT SLAERE R R E BHE
X5 (EEPN A (20 AL |) X5 (PN A (20 AL |)
P KA (LD ) LA SO REATES 210F] A KA (ks b) LA siopg| LA 1M 20004
o 1 A 1Eizo 1 A1H . s 1 A 1[EIZD 1 AN1[H
NN UNHREAR) x 150 12 100/ NN UNHREAR) x 150/ A 100
KRR RSN HWSEE KRB RSN HWSEE
X4 KRR X5 FIHE
KA (FFEAELE) 1 [a] 4104 KA (FFEFAEDLE) 1 [a] 410/
IR 1 [=] 210H TN 1 [=] 2009
AN - - AN - -
IINFE AR 1 [A] 100 IINF AR 1 [=] 10014




K 4,100
A EESE (LR ) A -
FIE oz 2. 100])
LS R N 5,240/
YN 2, 6209
X5y FI R
KA (o éi%(u& 8408
FoF o BY) 8,400
NN UNFEAE
LLF) 5208
X4 S ET | B1FEZ &
1,8 (5%
FLE) 31019 o011
2,/8 (105
P 5 RV ) 5208
Bk 4,8 (21&
B | L.05oH 3107
%)% (2 3, 140 520
FALNNEBEREZ—
X5 FI AR
wh 1 A410[1
2 B £ T 10, 480
R NS %Hff'af%‘%z 2, 1009
ANEES —
2 ET |1:|472 1,570
AN -
%Eiflaf%ﬁz 154 7- 0 520
i)l B2 R A2 e E i g%
ik IS HINAR ke %ﬁ@ﬁ 58
Litd B —
7a—
N Ha— 5N 1Hi1147-9 | 12,570M]| 7,330H
(EE 5 N) 4 N 1H11E47-9 | 10,480H]| 6,290
FURDEY AT (s |isamszy | sssom| 52008
HIF Y 1H 5,240™| 3,140M
BB (1 A4720) 2,100M] 1,050H
R (RIS &) 1,050 520H
Z O FI R AAarm  |1[E] 310H 310MH
& HaAL~ |1k o10m|  210M@

4,100
AR EES: (G D ) jJU\ -
A oz 2. 000))
LB R A KA 5,150
YN 2, 5809
X5y FI ok
§¢<¢$ﬁwLé§#(nﬁ 830K
UV %;é@)ﬂ 8, 3005
NN UNFRAERL
T) 5104
X7 SHFfiE T | B1EfZ &
1,/8 (5&f%E
B?/s (105 F4 — 100H
‘BAE
FHE = ) 5108
S rraevr
rs B 1, 0304 310
2 (2EE) 3, 0809 510
FEAFHBEREZ—
X5y FI k4
Wi 1 A410M
2 RFEl £ T 10, 290
il AR %Hffff%ﬁz 2, 0604
AN —
oMEfIE T |1%47-V 1,540
A= T
%=L 134720 510
Fi )l w2 R A e v i 5%
S FI 1 AR Bher PPIEE s oy
g% /S
Ha— B
N Hm— 5N 1BE1yAY 7= | 12,340 7,200
(EE5N) 4 N 181714729 | 10,290 6,170
% 3~ .
R FESNEM s pF  |ismszy | s220m| 51508
HIFY 1H 5,150M] 3,080
BB (1 A%47-29) 2,060 1, 0309
R (1RFIC S &) 1, 030 510
Z DM FI R HAAara |1[E 310H 310M
& HARL~ |14 200 200




KT I TAET A= - HIOA— b X T

KT ITTAET A= « HEVOT—bFx 7

N2 1IN 1, 050F (/s « oA 2-4)
—IREfE F
% D X4y 1A . .
(TAFx )
YA b 141 b 3, 1401 1, 050
VAP A=A
R A 191 k 5, 2401 2,100
AV 1B 7,330/ 3,140/
FL—F— 8,380~
7 b (K= ;
IRTEDN) Lif L5101
W9 e 7= 5
o 1A 1, 050
/\“—-/\‘\A%:L‘—‘ N
o 19\ 1, 050
DA v R ;
(3 231) 1A 520
BT E MR 5
i 19\ 210
EXAY 17A 210H
L2V i R J
*IJ)EH*/I' ﬁ@]v{z b4 k 1 {El 520
g0 17A 2101
EAR 17A 210
) 17A 5204
5 17A 520
BIER 2 — s
K 1A 210
7 L & (R 5
br—7 1A 100F7
SR 2,100
1% 4,190
AR—=YHEAT |48 5, 240
£t -
N— (2 NF -
i) &) 10500
1LAFey Jy— |3/ 1, 0509
i it ) 1047 [#] 2, 620
hEF 2 NFED B —
18 3104

L

ANkt 1A 1,030 (/) - =B 40)
—REfE A
Fi % DX Sy 1A (T o)
-
YAk 194k 3, 080 1,030
T FAFE Y
FF 7 194k 5,150 2,060H
Y 1 Ff 7,200 3,080H
N —5— 8,220~
% 1A 12, 3400 5,150
7Ty bh (F— ;
ISTIN 1 L5403
W9t e T— 8
o 1A 1, 0309
/\‘*—/\“f\';’_‘—‘ N
o 1A 1, 0309
V=N ;
(3 %)) 1A 510
BT - F K 5
Yok 1A 2004
ERXAYT 1A 200
P e I } 5
*IJ);H*/F %“E‘/ ]\ 1{9 510
o 1A 200
EA 1A 200
) 1A 510
%) 1A 5109
EIFIER 22— 5
K 1A 200
7 L & A (Rl 5
br—7 )V LA 1007
il 2, 0609
P14 4,110
AR=YHET |47 5, 150
Ft —
V7ETA ] (o)
N (2 AF 1,030
THEER )
LAY J— |34 1, 030K
s dr— |k 1047 2, 5801
M 2 N#HEY I —
1 & 310

=




158 1
Loy i e A 26, 190
£ %\A%Dﬁ_ 1H 3, 1407
’7;;”%;(% 1A (BH) 520
HHIRBILR DR
X5y ik
Fai (8 100
~12 : 00) 1,650/
Ry Ha— |FE (12:00
(£B 5 A) 1600 1. 6500
2H (8 :00
~16 : 00) 2,630H
‘E‘f -(ég): 00 3, 300
£ F '
ES%) fifi R
Faii (8 : 00
~12 : 00) 4308
T YRS W egs (12100
v 7T [~16: 00) 4301
b 0% Eq (8 -0
~16 : 00) 870H
T
Ko o—%y S
fifi FA A1) ) P B R KRR
=y P 15 : 00~%H
7 ifmﬁ 1A 14 10 00 12, 5704
Hi% v 1 F 10 : 00~16 : 00 | 5,240
FIAE
i FH e 1) F1) R R R R
15N =E el 15 : 00’”%%5
Z j\)(/ﬁ/g\ B 14 10+ 00 16, 760
Him Y 1 1% 10 : 00~16 : 00 | 7,330
fof AR 1) F B R F
. o | K 15 : 00~%H 1. 050
7 hYA b 10 : 00 .
HIF D 1 [X [ 10 : 00~16 : 00 5204
F A
it FH e 1) FI RS FIA R
IRERET =g 1 H 10 : 00~16 : 00| 1,570
w 1 17 :00~21:00| 1,570H

1% 1 L 710
- = A 25, 710
£ ]{A%@ﬁﬁ 1H 3, 080
?;;U%;'f 1A (&H) 510
KHRBILR LD R
X5y {5
f{;ﬁ:ljoéf 1 00~ 1,620
NRuHn— [FE (1200~
(28 5 A) |16.:00) 1,620H
AN . ~
£ T s
isﬁ@oo()w $ 00~ 3, 240
155 FEE -
<5y i i
FRii (8 100~
12 : 00) 4208
T fR— A 4 (12 1 00~
v 7T |16 : 00) 4201
< b U8R (8 0o~
16 : 00) 850K
i
KAz —Fy T
15 FH F 5| I FH R FI R
o (28 [ 15 : 00~%1H
T 4;\)(/35\ & 14 10+ 00 12, 3409
HI®Y 1 1 10 : 00~16 : 00| 5,150/
FIHER
15 F Ff 5] ) FH B RS IR
15N =1 PN 15 : 00’”%@5
z 61)(1351 & 14 10 00 16, 4509
HIF D 118 10 : 00~16 : 00| 7,200
155 I F A ) FH B R FI R
e 15 : 00~%1f
AN Gk 1 Py 10 : 00 1,030A
HIFD 1 X 10 : 00~16 : 00 510
FI R
15 FH F 5| ) FH R FI B
e B 15 10 : 00~16 : 00| 1,540
v 18 17 : 00~21 : 00| 1,540




A T AKTE 8 E AR B

AT AL IR B AR SR B

HI 0 15 1A R4
X5y EIEPN=] W
7 - 10 : 00~16 : 00 17 : 00~%9 : 00 D()l RIERS
4 NFET 4,190 8, 380H 1, 0509
EURICE LR
W MOV
HEE (B0
22 VETR 526
HIET 5% -
R 5 NHDIFE 1 O 260 | AE % 5204
EREES o (K72 bR 100
AHTY <o) lTEb
" 5% (LT
BRI ZORIZBW
T [5AE%)
EWVH, )
E LIS 5204 | & LAst 1, 050
bR e se— 2l Al 2001
i e 1Bl o 1Y~ 2100
HIFD 151 EERloY S e
X4y (1 XiH) (1 XH) (1 KHElICH X
10 : 00~16: | 17 : 00~ |1 pRe47-0)
00 9 :00
VA A 520 1, 050 100
FKiEG)IEDR
. el
=N NN
Tt 5% A4 [P
YAN e V2%
IZ]U (9 ﬁFo?)” (12tF(;f R LS
: 00~ : 00~ N ~ 1)
12 : 00) 17 : 00) LIS 72 0
DRE 3309 5504 100 1004
WHE= 330 550 10014 1004
= 330 550 100 100
BT E 550 920 1704 150/
F B X5y A
R e Ty U—11a
YXUTE - Sx 0 3100
MR — |1 H2mizo
J— % 520
—_ 33 1 Hifﬁﬁ'ﬁ%f: )
BANAT— 260
e EEHEE N
o TR DGR
COMPER |2 5chiiz
5,

Him 15 1A B
X4y = N
7 PAAR 10 : 00~16 : 00 17 1 00~%9 : 00 ffégﬁﬁé
4 NET 4,110 8,220 1,030
FERICEL R
W R OV
HEE (BBFn
22 VEAY TR 26
7) Bl %%f
HET 5 o
) g s 250 |4 510
- <, %c:(}?in?i
" 35 LT
155 FEE - PEIZBN
T [
HEEMDTIN 510 Bt LAisk 1,030
ERRoE»—>/R1 A%7=0 200H
1% o e 1HBIZoX 1Y =0 2001
Him 0 15 1A A
X4y (1 X)) (1[2@3)22 (1 KHilco X
OO - 170 00~3Z | 1 W4 7-0)
10 : 00~16 : 00 9 - 00 A
VA 510 1,030H 100/
KT HEB5)EDER
. " R EA|
JAN ol V2
- (9 ﬁg(?” 12 (12%1? el LSS
1 00~12: : 00~ NI - V)
00) 17 : 00) 1= 720
DB 3204 5404 100M4 100/
WHE= 320 540 10014 1004
I 320 540 100 10014
BT =E 540 900 1704 150/
F X 55 |
YU —= S 310[
MR Ea— |1 H 2o
J— 5109
—_ |1 Y720
BAAT— 950
FREEEE T
DO OhEEE | EDOAGRAE =T

THIZED 5,




13 SRR AL B f ER

ERIDER

MAEE (1 AIZSE)

4 FEAR YR FEAR A E R4
7 (a0 E | (BHORE | @i
1m 347 1m 3247~ (1m3
D) - ") M)
B i fit 5% .
(R =z [34m3 ET Mﬂ%g?’%%ZZD 31011

R LS

i3 EER B MR
AR (1 1125%)
wABE | ARG g
o 0wk wmne
\ (emoz i [0 EEEE S (1m 3
FRRE m347=09) )" T L7 1)
R ,
sz oy Pam3 ET 10, 2909 %23%%7‘5 310
E L)




